



2851 Spafford Street Davis, CA 95618 1-800-698-3249

Date Quoted: 04/16/2024 Quotation for:

NORTH SLOPE BOROUGH SCHOOL DISTRICT

Quotation for additional Simlog Simulation Software and Hardware

Expiry Date: 05/16/2024 Kent Mingneau Tom Diehl Sales Manager: Utqiagvik, AK 99723

Item & Description	Qty	Unit Cost	Total Cost
Simlog Simulation Manager (1 per lab if networked)			
PS-SMR-01-010804 Simulation Manager Commercial Software License	1	2,334.00	2,334.00
Simlog Personal Simulator software licenses			
PSM-WL-01-020300 Wheel Loader Personal Simulator v2 Commercial Software License	1	11,667.00	11,667.00
PSM-DZR-01-010900 Bulldozer Personal Simulator Commercial Software License	1	9,334.00	9,334.00
PSM-SSL-01-010204 Skid-Steer Loader Personal Simulator Commercial Software License	1	8,167.00	8,167.00
PSM-HEX-01-021000 Hydraulic Excavator Personal Simulator Commercial Software License	1	9,334.00	9,334.00
Additional Hardware needed for new simulation software			
CHP-STOCK-02x2 Set of 2 Multi-Purpose Replica Controls Joysticks Industrial USB Joysticks with 8 Buttons	1	3,300.00	3,300.00
USRM-BR-V-01/H-02 Single Unit Complete Bracket Assembly for Industrial Replica Controls. Required for Ball-Tip Levers CHP-STOCK-07 and Multi- Purpose Replica Controls Joysticks CHP-STOCK-02	2	330.00	660.00

Item & Description	Qty	Unit Cost	Total Cost
CHP-STOCK-08 2 Button F/N/R Transmission Control Lever for Simlog's Forklift, Backhoe-Loader and Wheel Loader Personal Simulators (industrial USB lever with 2 pushbuttons)	1	1,680.00	1,680.00
USRM-BR-V-01-H03 Table-Top Mounting Bracket for 2 Button F/N/R Transmission Control Lever (CHP-STOCK-08) or Hoist Control Lever (CHP-STOCK-06)	1	390.00	390.00
ETH-PDL-2 Two-Pedal Replica Controls Unit for Simlogs Hydraulic Excavator Skid Steer Loader Personal Simulator (industrial USB 2-pedal unit with toe-down/heel-down excavator pedals)		3,300.00	3,300.00
Available Options:			
SIM-VWCTrain One Half Day (4 Hours) of video web conference training for Simlog's Personal Simulator and Simulation Manager	0	500.00	0.00
INST1 On Site Installation & Product Orientation Maximum 1 Day On Site KES requires written site readiness confirmation prior to installation The technician shall assemble, connect and ready the system for use. The customer shall be expected to supply all utilities and connections to the machines; truck unloading, uncrating and location of all shipments to room where system is to be set up; and assistance to the KES technician, when necessary, for lifting of equipment. IF needed, the customer shall be required to provide local network access, passcodes, etc or to have the school IT manager present. Does not include installation or configuration of non KES supplied equipment, electrical work, removal or relocation of existing Non-KES equipment/ furniture, or removal of packaging debris.	d n	3,200.00	0.00
	Sı	ub Total	50,166.00
	Estimated Freight		
	Delivere	ed Total	\$51,151.00

Klein Educational Systems, Inc.
Email Purchase Orders to orders@kleineducational.com
2851 Spafford Street Davis, CA 95618 Toll Free: 800-698-3249
Prices Valid for 30 Days Terms Net 30 Days Estimated Delivery TBD



05/19/2024

Expiry Date:



2851 Spafford Street Davis, CA 95618 1-800-698-3249

Quotation for: Date Quoted: 04/19/2024

NORTH SLOPE BOROUGH SCHOOL DISTRICT

Kent Mingneau
Barrow, AK 99723
Sales Manager: Tom Diehl

Quotation for additional Simlog Simulation Software and Hardware

Item & Description	Qty	Unit Cost	Total Cost
Simlog Simulation Manager ( 1 per lab if networked)			
PS-SMR-01-010804 Simulation Manager Commercial Software License	2	2,334.00	4,668.00
Simlog Personal Simulator software licenses			
PSM-WL-01-020300 Wheel Loader Personal Simulator v2 Commercial Software License	2	11,667.00	23,334.00
PSM-DZR-01-010900 Bulldozer Personal Simulator Commercial Software License	2	9,334.00	18,668.00
PSM-SSL-01-010204 Skid-Steer Loader Personal Simulator Commercial Software License	2	8,167.00	16,334.00
PSM-HEX-01-021000 Hydraulic Excavator Personal Simulator Commercial Software License	2	9,334.00	18,668.00
Additional Hardware needed for new simulation software			
CHP-STOCK-02x2 Set of 2 Multi-Purpose Replica Controls Joysticks Industrial USB Joysticks with 8 Buttons	2	3,300.00	6,600.00
USRM-BR-V-01/H-02 Single Unit Complete Bracket Assembly for Industrial Replica Controls. Required for Ball-Tip Levers CHP-STOCK-07 and Multi- Purpose Replica Controls Joysticks CHP-STOCK-02	4	330.00	1,320.00

Item & Description	Qty	Unit Cost	Total Cost
CHP-STOCK-08 2 Button F/N/R Transmission Control Lever for Simlog's Forklift, Backhoe-Loader and Wheel Loader Personal Simulators (industrial USB lever with 2 pushbuttons)	2	1,680.00	3,360.00
USRM-BR-V-01-H03 Table-Top Mounting Bracket for 2 Button F/N/R Transmission Control Lever (CHP-STOCK-08) or Hoist Control Lever (CHP-STOCK-06)	2	390.00	780.00
ETH-PDL-2 Two-Pedal Replica Controls Unit for Simlogs Hydraulic Excavator or Skid Steer Loader Personal Simulator (industrial USB 2-pedal unit with toe-down/heel-down excavator pedals)	2	3,300.00	6,600.00
Available Options:			
SIM-VWCTrain One Half Day (4 Hours) of video web conference training for Simlog's Personal Simulator and Simulation Manager	0	500.00	
INST1 On Site Installation & Product Orientation Maximum 1 Day On Site KES requires written site readiness confirmation prior to installation. The technician shall assemble, connect and ready the system for use. The customer shall be expected to supply all utilities and connections to the machines; truck unloading, uncrating and location of all shipments to room where system is to be set up; and assistance to the KES technician, when necessary, for lifting of equipment. IF needed, the customer shall be required to provide local network access, passcodes, etc or to have the school IT manager present. Does not include installation or configuration of non KES supplied equipment, electrical work, removal or relocation of existing Non-KES equipment/ furniture, or removal of packaging debris.	0	3,200.00	
	Sı	ub Total	100,332.00
Es	Estimated Freight		

**Delivered Total** 

Klein Educational Systems, Inc.
Email Purchase Orders to <a href="mailto:orders@kleineducational.com">orders@kleineducational.com</a>
2851 Spafford Street Davis, CA 95618 Toll Free: 800-698-3249
Prices Valid for 30 Days Terms Net 30 Days Estimated Delivery TBD

\$102,302.00